<

CAMO2ZZI

Automation

ACCESSORIES FOR SERIES MX

SERIES MX MODULAR FRLUNITS > ACCESSORIES FOR SERIES MX

I Rapid clamp kit Mod. MX2-... and MX3...

The kit MX2-X is supplied with:
1 rapid clamp, 1 0-ring OR 3125 *,
2 exagonal nuts M5, 2 screws M5x69.

The kit MX2-Z is supplied with:

1 rapid clamp, 1 0-ring OR 3125 *,
1 exagonal nut M5, 1 screw M5x69,
1 screw M5x85 for wall fixing.

*it can be ordered separately (cod. 160-39-11/19)

AIRTREATMENT 2019

6
B F
The kit MX3-X is supplied with: A
1 rapid clamp, 1 0-ring OR 38X2,8 **, ],
2 square nuts M6, 2 screws M6x75. S 7
o/
—
The kit MX3-Z is supplied with:
1 rapid clamp, 1 0-ring OR 38X2,8 **,
1square nut M6, 1 screw M6x75, ey T N
1 screw M6x90 for wall fixing.
**% it can be ordered separately (OR 38X2,8 NBR) Q
s Y
Materials: technopolymer clamp, NBR 0-ring,
zinc-plated steel nuts and screws.
See the positioning scheme
in the section “Series MX
assembled FRL"
DIMENSIONS
Mod. A B C D E F G H L M Notes
MX2-X 5.2 12 46 14 73.5 37.5 70.5 37 = =
MX2-Z 5.2 12 46 14 73.5 37.5 70.5 37 14 M5 kit with wall fixing screw
MX3-X 6.2 14 54 16.5 86 40 77 43.5 = =
MX3-Z 6.2 14 54 16.5 86 40 77 43.5 13 M6 kit with wall fixing screw
I Rapid clamp kit with wall fixing brackets - size 2
The kit MX2-Y is supplied with: L
1 wall rapid clamp, 1 0-ring OR 3125 **, 2 exagonal N, IS A
nuts, 2 screws M5x69. A _ 0
a3 = E
** it can be separately ordered (cod. 160-39-11/19) o
. . . A
Materials: technopolymer clamp, NBR 0-ring, zinc- ——/“ N 1
plated steel nuts and screws. @ .
S = 1
@
“‘M —
N
-1 rr Dal

See the positioning scheme in the

43

Mod. A B C D E F G H | L M N 0 P R section "Series MX assembled FRL"
MX2-Y 52 12 46 14 735 32,5 705 37 705 103 12 6,5 42 152 4
1.49.02 Products designed for industrial applications.

General terms and conditions for sale are available on www.camozzi.com.



	Ait treatment n°7 .pdf
	ENG.7.1.49.2


